Ut /Maths (BTlaﬁ 999 /Modal Paper) ECEE] f&d@ 7§ /Second Year (SET-A)

& fored & | (v) T Fg TR - 5x1=5
Marks (v') the correct answer in each of the following -

Tl T O [ e W & GHTeR TN i FEd! & ol S IO R e 9 -
If transversal cuts two parallel line then each pair of corresponding angle are -
(i) THMEdE/equal . (i) 9 &1 §/unequal
(iii) <1180 /Sum 180 (iv) F15 F&l/None of these
92. fa® TH @lrll-l s & EEIU]T Eal ?TPT & - e
Sum of two aﬁgiés formmg a 11neé1Tair e WAL
i 90 (i) 180
(iii) 360 (iv) FI2 72l /None of these
9.3 u_?; 1 AT I F o e AR
U T two adiac%nt angles are supplemenjcary they fotrm a- (:J"‘}' TR
(i) 9&R/Complementary (ii) ©9%H/Supplementary
(iii) 360 (iv) %1E &1 /None of these
q4.. ¢ ﬁﬁa PQR # EFTUT va 30” Jq /R =60° TS TH'HTWH ¥ ®iA-|1 9 E oy
" IfangleQand R of APQR are 30° & 60° then write which of the tollowmg is true -
(i) PQ*+ QR? = RP? (ii) PQ* + RP? = QR?
(iii) RP? + QR? = PQ*? (iv) F1E 721/ None of these
9.5 I Emar Waﬂww,ﬂﬁ TS FFEAE - y
 Aline 1ntersect1ng a circle in two points is called - -
() ==/radius (i) STar/chord
(iii) R @/ tangent line (iv) #1g &1 /None of these
TE forhea % T (v) % g T - : 5x2=10
Marks (¥) the correct answer in each of the following -
96. 2y +3=10T9 y HAM RN - e gl 2 s
The value of y then Zy i 3= 10k = e
=7 7
O = (i)
@i 2 (iv) _713
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97.  (—1)* %1 HEERT -
Value of (—1)*is -
i -1 (i) 1
(iii) 4 (iv) -4
9.8. 32 FHE &N - B s TR N
Value of 3% is - BN S ke ‘
) 54F =St Q) 6 ﬁ
(iii) 9 | (iv) 18
99, 2x+2 SR 5x + 7 FACE-
- Sum of the 2x + 2 and 5x + 7 is -
() 9x+7 (i) 7x+9
(i) 7x+4 (iv) 9x +9
¥.10. Al x =57 4x — 20 FT A ENT -
If x = 5 then find the value 4x — 20 is -
e 12 (ii) 16
(i) 0 (iv) 5
s T A gfd A - 10 x 2 =20
Fill in the blanks - -
9.11. S & R0 GE & Al Sk AT BT AT ..o, &
If two angles are complementary, then the sum of their measure is .............
%.12. A ABCH /C T FHEME| A AC = 4cm @1 BC = 3em T ABHIHM ... EFT |
In a triangle A ABC if ZC is right angle & AC = 4cm. & BC = 3cm then
value of ABis ......... 1" 2)
9.13. V6400 HFIAFERT .............
The square root of 6400 is .............
914, T35 FWFEET ...
The square of 35 is .............
9.15. Sx + 7 A1 2x + 6 F FATCEIT ..cccvnns
The difference of 5x + 7 and 2x + 6 is .............
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9.16. (—3)* FMHHENT .............
The value of (—3)*is .............
N17. AE2x+2=0,d x FHAA= .............
If 2x + 2 = 0, then the Value of X = .vierine
9.18. aay_25m2y+5mm:f§rfn_.f ............ |
It y = 25 then the valueof 2y + 5= ...........
519, 4=-2- W ma“'é‘rrn‘ .............
The Vaiue Of 4— — 2— 18 e K o 4 N
7 S TR T
9.20. szng Hﬂa Es ar:n zsnm £ 101
The sum of the angle of a equilateral triangle is ............. |
e FifoTe - 5x2=10
Matching the following -
921, 43 (a) 8
922, 25+23 by 9

9q.23.° E’Sﬁﬂa %T &BFEE /4 Aﬂ:&?ﬁf rectancrle

RIS Clegh 'y IR
&\\ 5 r ¢ H J

9.24. 81 EET EWH\E’ e Séume root of 81

5[.25.{‘ T H 3 %/ygrﬁcs in cuboid (e) o4

By v P <

erte true (T) and false (F) =LA o et i

9.26. d9&H 3 I5F E]Fl El /3 faces 1h cylinder.

9.27. 28+20=2%

9.28. Tﬁ‘ﬂﬂ % 1t FI0T 1 AT 180° &

The sum of the three angles of the tr 1a11gle is 180°.

9.29. 52=125
9.30. V144 =
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il Y I 9 - 5x2=10
Very short types question -

NN e

9.31. RS % o SRR EId & |
How many types of quadrilateral.

9.32. 729 % WS Fd BTl
Square roots of 729.

9.33. U I I AWM 12 Wi, T IGH! (31 =T -

The diameter at circle is 12 m than find the radis.

934, 29 x 21 { AW FAEY | / Find the value of 2° x 21

9.35. 91 I &R I g3l fsRawl / Wrrite the formula Area at square.
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&Y I A - 5x3=15
Short types question -
9436, Aldx = 5dl 3x + 5 F AW TARE / If x = 5 then find the value of 3x + 5

9.37. &S HNT /Solveit- (3x +5) — (4x — 8)

9.38. [3° x 23]° A RN /Find the value [3° x 23]°

9.39. ﬂ@iﬁ % T IR o AT fSRawl /Write the all quadrilateral name it.

9.40. 22570 aﬁq\as | WY | / Find the square root of 225
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el T 57 - 2x10=20
Long type question -
9.41. s #1 25%e T1d FITC /Find the Area of triangle.
A
S/ | =\%
2’ S \2
B
B D C
— 36cm —

9.42. & FieW / Solve it -

(i) 9x—4=23 (i) [3% x 3°]°!
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